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ECONOMICS

( General )

Paper : 6.2

( Planning and Development in India )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :
1x10=10

weore AT 2T i S Ted i

(a) In which year the North-Eastern Council
was established?

@ v T2 Al 515 1 C2fRe ?
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(b)

(c)

(@)

(e)

(9)
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(2)

Indian planning is a democratic
planning.

(Write True or False)
RS ARPEA! (2CR TSI T |

(3T & =Ty Tora)

Mention one merit of decentralized
planning.

RHiTe ARFeT b1 @9 Tae 341 |

State any one achievement of Indian
planning in the field of agriculture.

FReFae ey ARFE [ @l bl Reerel
Bl

In India, Five-Year Plans are prepared by
the —.

(Fill in the blank)

SReq RS ofRTEAIR —— age IR
Sforam |

(14T 31 = 1)

Give the full form of MGNREGA.
MGNREGA-T = e{ch ford |

Is there a separate planning commission
for decentralized planning in Assam?

e Ricefige ARes e FP AR
SIS SICRCAP ?

( Continued )

(3)

(h) Choose the correct answer from the

()

0)
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bracket to fill in the blank :

—— growth is the main objective of
the current Five-Year Plan of India.
(Inclusive /Higher)

T o o[ W Teach! Ref e o e
08

SR Hfre A¥IRE ARTEAR T Town (xR
— T | (TR ) Tw)

Mention any one consequence of
economic  globalization on Indian
economy.

ooy SAfee wifs fPemas R @ 9o
TS SR 91 |

Choose the correct answer from. the
bracket and complete the sentence :

The final draft of the Five-Year Plan in
India must be approved by (North-
Eastern Council/National Development
Council/Planning Commission of India).

A 2] 9% Teqcht A TRmiz It T
Fq1:

(Teg-+m  “fREr/qBE  TEaq AR/ SHed
S{fSPE SICA )T TR SRS ARRS AT
TUR 4541 SIS 24 e |

( Turn Over )



(4)

2. Answer the following questions : 2x5=10

weTo frall PPz Ted fr:

(a) State any two basic features of a
developing economy.
Tee A @39 R @I 1o 2k (e
feral |

(b) Mention any two broad strategies of
Indian planning.
©lqed AT R @I 4o 3281 (e Teae
90

(c) Justify the need for poverty alleviation
programme for India.

SO @ wREel  YRAPId S g%IR
AAGATS FCT I e |

(d) Give the meaning of economic
globalization.

Iifdfe ey w2 o120 |

(e) Name the member States of North-
Eastern Council.

Toq-7d AR APH AP AN o1
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(S)

3. Answer any four of the following questions :

5x4=20

wee il & i wifRbr epe Teg e

(@)

(b)

(c)

(d)

(e)
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Write a note on India’s look-east policy’.

o9 et (o1 ST Rew @b ot forar

Briefly state the role of ‘foreign direct
investment’ in India.

SRS ‘ers Fee Rffms’s sier Raa

S fora |

Comment on the {failure of Indian
planning.
e AfFEE [{eeer ev9s Tu17 A |

Distinguish between centralized and
decentralized planning.

FRTe WiE RETIes Resma MNLF oed |

Explain the main objectives of North-
Eastern Council.

Teq-7fg “If o SCwCa T ;|

“Planning is essential in India even in
post-liberalized period.” Do you agree?
Give reasons for your answer.
“IMRIE ARG TSl WHRE SRed A
AR TR 177 T LT P 7 (O
Tegq Fol0F IS i |
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4. Answer the following questions : 10x4=40
weTo firal epyTRe Teq foar:
(a) Describe the achievements of planning in

(b)
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the post-liberalized era in India. 10

THOS THRAGIE R[Sl ARCIRS  ARFTA
SEFeTel R 4T |

Or/ %<1

Describe the basic features of Indian
economy.

SqeE SAIeT A1Af{e CAFEETRI ¢ e |

Discuss the present trend of composition
and direction of foreign trade in India.
5+5=10

TGS Qe eI A S g efes
SISYIRT S 41 |

Or/ {1

Explain the basic features of economic
globalization in India. Comment on its
consequences. 6+4=10

TR 4G IR A4 CAMBIER forn | 33
FERF] 8ATS TB7 7 |

( Continued )
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(7))

(c) Write an essay on decentralized planning
of Assam.

e RFaiFs e K@ 93 3o forar |
Or/ %<1

Give a critical analysis of the role played
by the North-Eastern Council.

Teq-7 AT PR G TS [esel
SRR |

(d) Describe the poverty alleviation
programmes implemented by the
Government of India.

SRT B AN TS wiRwel R
SAbfCTEE Fefar fi |

Or/ =11

10

10

Write brief notes on the following : 5+5=10

@eTs AT B COrel o
(i) MGNREGA
(i) Public distribution system
ol g A<
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